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CHAPTER

Number Puzzle

Find the missing number from the given responses.
(SSC CGL 1% Sit. 2010)

DIRECTIONS (Qs. 7 - 8): Select the missing number from the
given responses :

173 (24) 526 7 713> (SSC CGL 2" Sit. 2011)
431 (18) 325 2196
253 ) 471 2 5
(@ 22 (b) 42 (c) 30 (d) 06 69 (912
2. Whatis the number missing from the third target? (a) 58 (b) 51
(c) 65 (d) &4
5 9 15
8
16 |29 ? (SSC CGL 1%t Sit. 2010)
49 89 147
(a) 45 (b) 48 (c) 51 (d) 54
3. The following equations follow a common property. Find out
the correct value to complete D : (8SC CGL 2" Sit. 2010)
A=51(714) 14: 343 b) 512 729 d) 1000
B=61(915)15: @ ® © @
C=71(1136)16: DIRECTIONS (Qs. 9- 11): Select the missing number from the
D=81(717 given responses.
(@) (1377)  (b) (1378) (©) (1356)  (d) (1346)
4. Find the missing number from the given responses: 0. (SSC CGL 15t Sit. 2012)
501612
? (SSC CGL 2" §it. 2010)
18 | 27 | 96
(@) 4 (b) 5 (¢ 3 (d) 6
DIRECTIONS (Qs. 5= 6) : In each of the following questions. (@ 20 (b) 25 (¢) 10 d 15
Select the missing number from the given responses. 10 0
1 11 |15
st Qi
5 2 7 9 (SSC CGL 1% Sit. 2011) 2112138
7 3 4
9 8 2 4 |12 |10
126 168 216 10| 5 |13
(@) 8 (b 3 © 6 (d) 36 18 120 ?
6.

(@ 21 (b) 20
b © = =
‘v R ol il

415

(a) 14400 (b) 15600

(c) 23040 (d) 17400

(a) 60 (b) 68 (c) 55 (d) 65
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DIRECTIONS (Qs. 12 - 13): Select the missing number from the DIRECTIONS (Qs. 18-20): Select the missing number from the
given responses. given responses.

(SSCCGL 2" Sit.2012) g

8 7 6 (SSC Sub. Ins. 2012)
12 8 7
88 77 ?
5632|3773 | 3132
(a) 66 (b) 87 (c) 78 (dy 76
19. 28 35 32
7 5 8
4 3 2
8 10 9
@ o (b) 2 (¢) 3 (d) 4 (@) 3 (b) 5 (¢) 6 (@ 7
B [576 9 20, 12/(288),;5(50)5, 19(7),
8 | 4 (a) 722 (b) 324 (c) 776 (d) 684
? DIRECTIONS (Qs. 21 - 23) : Select the missing number/letter
36 142 | 26 from the given responses.
(SSC CHSL 2012)
(@ 5 (b) 2 (¢) 3 (d) 4 21 27
9 5
[;TIRE.CTIONS {}?}s. 14-1;5): jn)zi!e- Jfollowing questions, select @) 14 ®) 15 © 12 @ 13
the missing number from the given responses. 2» R Q L
(SSC CGL 1% Sit. 2012) S P M
4 7 8 6 T ? N
4 9 5 a O (b) R (c) W (d)y V
3 2 ? 237 6 15
25 70 20 0 ? 12
(@ 9 (b) 8 (© 1 d) 5 3 12 90
(@ 9 (b) 4 (¢) 25 (d 11
15. 3 5 DIRECTIONS (Qs. 24 - 26): Select the missing number from the
61718 given responses.
9 2 (SSC CGL 1°Sit. 2013)
57111192 24 3 4 6
5 7 3
(a) 42 (b) 21 () 11 (dy 18 1 2 7
DIRECTIONS (Qs. 16 - 17) : Find the missing number 35 69 7
(a) & (b) M (c) &4 (d) 42
16. [21] 24 [ 36 (SSC CGL 2" sit. 2012) 2> ;6 ;‘2 g‘;‘
5
11|14 |12
9 13 ?
31 7? 4
(a) 21 (b) 2 (c) 17 (d 14
77| 112|108 26. Select the missing number from the given responses.
(SSC Multitasking 2013)
@ 2 (b) 4 () 3 d 5
" e ‘h
16 16 20
197 263 356
(@ 9 (b) —4 (c) 4 (d) -8 (a) 56 (b) 49 (c) 45 (d) o4
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DIRECTIONS (Qs. 27- 30) : In the following questions, select
the missing number from the given responses.

DIRECTIONS (Qs. 36 - 37): In the following questions, select
the missing number front the given responses.

27. 81 64 16 (SSC CGL 2" Sit. 2013)

4 9 49
36 16 25
108 96 ?
(a) 230 (b) 140 (c) 120 (d) 410
28 25 5 5
30
35 9
(a) 5 (b) 4 () 6 (d) 7
29. 24 51 67
2 4 6
5 7 5
53 211 ?
(a) 135 (b) 235 (c) 347 (d) 407
30. Find the missing number.
3 6 2
IOECOEOE
2 3 9
(a) 37 (b) 45 (c) 47 (d) 57

DIRECTIONS (Qs. 31 - 33) : Select the missing number from the
given responses.

(SSC CGL 2" Sit. 2013)

3. 3 5 8 7
4 6 4 6
5 2 2 3
58 58 62 q
@ 122 (b) 128 ©) 124 d) 126
204 3 2
6 9 10
9 27 2
(@ 20 (b) 50 (c) 4 (d) 30
3. 84, 81 88
14 12 18 9 ? 11
@ 12 (b) 14 © 16 ) 10

DIRECTIONS (Qs. 34 - 35) : In the following questions, select
the missing number from the given responses:

(SSC CGL 15 Sit. 2013)
34. 54 30 112 42 ? 28
24 70 38

@ 176 (b) 166 (© 116 d) 66
35. 216 209 202

52 515 508

&3 626 ?

(@) 620 (b) 608 © 602 d) 619
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(SSC Sub. Ins. 2013)
36. !

(a) 330
37. 12 15 16
03 o 05
04

0

(b) 336 (c) 428 (d) 420

4 06

40 66 ?

(@ 104 (b) 320 (c) 25 (d) &4
DIRECTIONS (Qs. 38 - 39) : In the following questions select
the missing number from the given responses.

(SSC CHSL 2013)
3.5 25 5
7 49 7
6 7 6
(a) 38 (b) 40 (c) 36 (d) 35
39. 9% 100 132
6 4 6
5 7 3
21 32 ?
(@) 32 (b) 20 (c) 25 (d) 30
40. Select the missing number from the given responses:
(SSC CHSL 2013)
26
(a) 132 (b) 122 (c) 222 (d) 212

DIRECTIONS (Qs. 41- 42) : Select the missing number from the
given responses.

(SSC Sten. 2013)

4. 3 5 8

5 7 6

4 2 2

60 70 144

(a) 18 (b) 48 (©) 3 (d) 4
2 6 18 9

2 36 18

%4 7 36

(a) 18 (b) 72 (c) 4 (d) 60

DIRECTIONS (Qs. 43 - 47): Select the missing number from the
given responses.

(SSC CGL2014)
$8.7 6 6

8§ 6 2

3 4 5

168 144 120

@@ 8 b) 10 © 5 @ 4
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4. § g g 18 11 6 12
1 4 2 5. 9 38 6 1932 9 26 4 3 39 ? 19
4 % ? 17 11 15 8
(a) 65 (b) 8 (c) 52 (d 76 (a 9 (b) 40
45 2 4 24 () 7 (d) 36
27 58 31
N 68 D) DIRECTIONS (Qs. 52 - 54) : Select the missing number from the
@ 46 ®) 36 © 32 @ 38 given responses.
46. Select the missing number from the given responses. (SSC Sten. 2014)
121 156 105 (SSC Multitasking 2014)
145 187 126 ! 28| PLNZ8
115 190 ? 5 59 ?
(a) 231 (b) 225 (c) 255 (d) 305 25 12| |36 02
47. Find the missing number from the given responses. @) 50 (b) %
(SSC Sub. Ins. 2014) (¢ 218 (d) 64
q» 3 5 2
»« s3. 4@5 ?@? 3@5
db 5 4 I
(a) 11 (b) 3 (¢) 1 (d 5
(@ 12 (b) 10 (c) 9 (d) 8 54. 5 7 4
DIRECTIONS (Qs. 48-49) : [n questions below; select the missing ;6 51 3 ,,3 8
number from the given responses 7 4 6
(SSC Sub. Ins. 2014) (a) 6 (b) 7 (c) 9 (d 8
48 DIRECTIONS (Qs. 55 - 59): In the following questions, select the
' 719 |8 missing number from the given responses.
3 (SSC CGL 15 Sit. 2015)
716
16322 3.

o iy @+ )
%3

DIRECTIONS (Qs. 50 -51) : Select the missing number from the 36.
given responses.
(SSC CHSL 2014)

729 64 512 49 ?

(@) (b) 17 (c) 18 (d) 16
57. 9 11 13

13 15 17

10 12 14

@ 97 (b) 907 (© 1097  (d) 9107

7 4 16 18
(a) 444 (b) 515 113 2
©) 343 ) 373 @@ 2 (b) 14 (© 15 d 21
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8 37212 T=1ll6l5 DIRECTIONS (Qs. 65 - 67) : In questions below; Select the missing
number from the given responses.
4124 -2| 4 0|?

(SSC Sub. Ins. 2015)

(a) 30 (by 11
. (?C) (5} X (d 1 65. 8 12 14
g 4 9 6|54 |7 8|51 4 9 7?2715
2 8 ? 4 7
112 160 162

(c) 8 (d 12 66.
DIRECTIONS (Qs. 60 - 64): In gquestions, select the missing ﬁh

number from the given responses. qp
(SSC CGL 1% 8it. 2015) %J
\ (a) 24 (b) 12 © 18 d) 19
2 2

67. 9
3 30

\ ﬂ
PaN
@ 12 b) 7 (SSC CHSL 2015)

() 12 d 9 68.

6l L 40327212 5 Ag\ /2\
L 3024549

L 54290 15 7 /3 4\ /6 "’\

@

65 26 39
(a) 8 (b) 7 () 10 (dy 9

DIRECTIONS (Qs. 68 - 71) : Select the missing number from the
given responses.

AN (AR

NBZANIEY

T T
- _ _ (c) 4 (d 21
) 3 7 10 ®. 378 [16] 32
,|1)504I|6824l||3i’3| s|1s |2 135
| - B 6|24 |96 | 384
(@) 16 (b) 12 @@ 45 (b) 80
© 9 @ & . 0
(c) 30 @ 32
63. 4|7 70, 4 3
S s[7e
8 7
343 | 64 @ 7 o
(© 75 d 7
@ 132 () 1321 (¢ 1231 (@ 1331 7. 874
4. R 3 , 1| 3]s
0 4 8 5 2 5 2 | 4 | 6
@ 31 | o
SIS TS T HIERE
(a) 6 (b) 8
(@ $B5 () 451 (9 02 (@ 154 © 2 (d)
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DIRECTIONS (Qs. 72 - 78) : Select the missing number from the

given responses.

DIRECTIONS (Qs. 79 - 82) : In the questions, select the missing

number from the given responses.

(SSC CHSL 2015)
72,0 12 18 30 16 32 40 36 18 27
6 Y ?
() 12 (b) 18 ) 6 d 9
73.
7
I8
(a) 58 (b) 45 (c) 4 (d 42
b
@ 60 (b) 65 (c) 68 (d) 55

75. Select the missing number from the given responses:
(SSC CGL 1% Sit. 2016)

65|26
32
719 |44

(a) 8 (b) 31 () 32 (d) 36
76. Select the missing number from the given alternatives:

AERE (SSC CGL 1% Sit. 2016)
s§[9[?
41916
60 |90 | 70
@ 9 (b) 8 (©) 7 (d 6

77. Select the missing numbers from the given responses

B350 (SSC CGL 1°Sit. 2016)
2140 |35

3534 |28

@) 36 (b) 46 () 40 @ 2%

78. Find the missing number from the given alternatives
(SSC CGL 15! Sit. 2016)

7110
16 | 40
151?19

@ 75

(b) 45 (c) 20 (d) 30
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(SSC Sten. 2016)

AN
(a) 11 (b)) 12
(cp 22 (d)y 33
80. 2 7 14
3 4 5
75 165 ?
@ 165 (b) 425
(© 185 d) 285
81 6 3 4
7 9 5 R 9 6
(a) 15 (by 20
(c) 11 (d 10
82,
@ 20 b) 15
() 40 @ 10

DIRECTIONS (Qs. 83 - 86) : In the following questions, select

the missing number from the given responses.

(SSC Sub. Ins. 2016)

(a) 27 (b) 18

(c) 24 (d 9
84, »q

(a) 128 (b) 131

(c) 130 (d) 129
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85.

87.

89.

144 | 25 | 13

196 | 29 | 15

34 2 [ 19

@ 41 (b) 39
(¢) 37 (d) 29
6 25 48 8
2 5 3 6

8 B 3% 16
4 5 4 2

@ 3 (b) 8
© 12 d) 6

In the following question, select the number which can be
placed at the sign of question non marking the given

alternatives. (SSCCGL2017)
3 4 2

[2 [aif o] [2]uas]e] [1]2]7]
5 3 5

@ o (b) 49

(¢) 59 (d) 71

In the following question, select the number which can be
placed the sign of question mark (?) from the given
alternatives.

(SSC CGL2017)
7163
2[5 ]1
894
15273 2
(a) 14 (b) 15
(©) 16 (d) 18

In the following question, select the number which can be
at the sign of question mark (?) from the given alternatives.

(SSCCGL2017)
@ 33 (b) 56
(c) 59 (d) 66
In the following question, select the number which can be

placed at the sign of question mark (?) from the given
alternatives. (SSC CGL 2017)

3|/10|6

186
9 3138
517 (1|36
3 51 7?

7 www.jkchrome.com

(@ 35 (b) 42
(c) 45 (d) 95
91. In the following question, select the missing number from
the given series. (SSC CHSL 2017)
49 | 169 | 484
81 | 144 | 625
16|25] ?
(a) 37 (by 47
(c) 48 (dy 25
92. Find the missing number from the given responses,
(SSC MTS 2017)
3 10
4 |7
T |?
42 |84 | 140
(a) 2 (by 17
(¢) 9 (d) 34
93. In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives. (SSC Sub. Ins. 2017)
71312
6 |11
1
721 ? |50
(a) 38 (b) 40
(c) 42 (d) 44
94. In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives. (SSC Sub. Ins. 2017)
1172
gl6|4
912(5
417(7?
(@ 9 (b) 10
() 11 (d) 12
95. In the following question, select the number which can be

www.jkchrome.com

placed at the sign of question mark (?) from the given
alternatives. (SSC Sten. 2017)

4 8 12
18 56
9 6 11 9 11 13
(a 72 (b) 78
(c) 108 (d) 90
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96. In the following question, select the letter which can be 103.

placed at the sign of question mark (?) from the given
alternatives. (SSC Sten. 2017)

104.
@ X (b) Y
(c) Z d A

DIRECTIONS (97-98) : In the following question, select the

number which can be placed at the sign of question mark (?)

from the given alternatives. 05
97. (SSC Sten. 2017)
5171|636
10| ?]17 |64
9 |11| 8 |56
@@ 5 (b) 6
© 7 (d) 8 106.

98.
516 819 11 ?

30 | 11 72117 132 | 23
(a) 10 (b) 12
c) 14 (d) 16
99. Find the missing number from the below options. 107
(SSCCGL 2018) )
19 78 20
25 14 47
6 ? 13
(a) 9% (b) 76 (c) 58 (d 29
100. Find the missing number from the below options.
(SSC CGL 2018)
2 7 95 108.
14 8 132
6 9 ?
(@) 175 (b) 164 (c) 185 (d) 154
101. Select the missing number from the given options.
(SSC CGL 2018)
36 52 86 109.
28 40 12
32 46 ?
(a) 43 (b) 53
(c) 49 (d) 51

102. Select the missing number from the given options.

Find the missing number from the below options.
(SSC Stenographer 2018)

4 9 9
7 4 ?
11 13 19
(a) 11 (b) 9 ) 8 (d) 10
Find the missing number from the below options.
(SSC Stenographer 2018)
16 25 81
36 49 9
10 12 ?
(@) 15 (b) 12 (c) 21 (d) 36

. Find the missing number from the below options.

(SSC Stenographer 2018)

310
5 8
7 9
5 8
@) 7 ()5 © 6 d 8

Study the given carefully and select the number that can
replace the question mark (?) in it. (SSCCGL 2019-20)

6| 21 |14

40 | 500
8 [25[7

(a) 78 (b) %8

(© 9l (d) %4

Study the given pattern carefully and select the number that
can replace the question mark (?) in it.
(SSCMTS 2019-20)

763 48
49863
2572
@ 28 (b) 42
(© 2 (d) 56

Study the given pattern carefully and select the number that
can replace the question mark (?) in it.

256481

234138

18332 (SSC CGL 2020-21)
@ 17 (b) 27 ©) 19 d 29

Study the given pattern carefully and select the number
that can replace the question mark (?) in it?
(SSC Stenographer 2020-21)

53637
485840
492549
(a) 58 (b) 51 () 47 d) 49

(SSCCGL2018)  110. Study the given pattern carefully and select the number

2 3 5

125 343 216

3 4 ?

(a) 2 (b) 1
(c) 4 (d) 3

that can replace the question mark (?) in it.
(SSC Stenographer 2020-21)
48128
39108
5107
(a) 236 (b) 205 (c) 225 (d) 220
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111.

112,

113.

Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

(SSC Stenographer 2020-21)
151281
171493
15117
(a) 104 (b) 113 (¢) 97 (d) 181
Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

(SSC Sub-Inspector 2020-21)

14| 16 | 60
1171 ?
15( 18 |99
(a 78 (b) 168 (c) 144 (d) 8

Study the given pattern carefully and select the number
that can replace the question mark (?) in it.
(SSC Sub-Inspector 2020-21)

2| 8 |11
71615
48| 63 | 72
@ 7 (b) 5 (c) 6 d 4

114. Study the given pattern carefully and select the number

that can replace the question mark (?) in it.
(SSC Sub-Inspector 2020-21)

28 | 58 [118

21| 44 |90

47196 | ?

(a) 1% (b) 150 (¢) 176 (d) 188

115. Study the given pattern carefully and select the number

that can replace the question mark (?) in it.
(SSC Sub-Inspector 2020-21)

54140 |56
68 | 57 |44
47139 | ?

(a) 22

(b) 30

(¢) 32

(d) 39

(@ 1+7+3+5+2+6=24
4+3+1+3+2+5=18
Therefore,

2+5+3+4+7+1=[22]

(b) As,5x3+1=16
16%x3+1=49
9x3+2=29
20x3+2=89
Therefore,

15%x3+3=
48x 3+3=147

(@) As,A=51x14=714
B=61x15=915
C=71x16=1136

- D=81x17=[1377]

(d 5+4=9and9x2=18
6+3=%and9x3=27

12+4=16and?
__'5_@
16

9 www.jkchrome.com
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(¢) Columnwise

. 2x7x9=126 II. 7x3x8=168
II. 9% 4x?72=216
216
C = ——=|6
T 9x4

(d)
65 ]
‘+3
+32 I
33 «—17
+16

(¢) Column wise
First Column,
(TP +(4P+(2P=49 +16 +4 =069
Second Column,
BP+(9P+(1P=9+81+1=91
Similarly, In third column,

(2P +(6p+(5P=4+36+25=[65]

www.jkchrome.com



Second Column
4+Tx1=4+7=11

& 8=(2 ; Third Column
5+8x2=5+16=[21]
3
216=(6)64 = (a7 16. (c) As,3x7=21,11x7=77

4x9=36, 12x9=108
Therefore,14 x8=112

9. (d) The product of two numbers in a sector is equal to the ?x8=24
central number in the previous sector. 2.3
3x5=15
§x3=24 17. (b) 12x16=192+5=197
Tx2=14 16 x16=256+7=263
5% 3=[13] 18%20=360] —4 | =356
8x4=32 18. (b) 8x8x88=35632
9x1=9 TxT7x77=3773
9%x2=18 Similarly,6 x 6 x 2=3132
Tx4=28
10. (¢) FirstColumn e 22 g
10+12+4+10=36 6x6
36 19. (b) 28+7+4=4+4=8
—=18 35+5+3=7+3=10
2 Similarly, 32 + 8+ 7=9
Second Column —4+9=0
40 - —
11412+12+5=40=—=20 =7=9-4=
) 2 20. (a) (12x12)x2=144x2=288
Third Column (5%5)x2=50
1548+ 10+ 13=46 =4_6= Similarly, (19 % 19)x2=361%2=
2
11 (@) 2x3x5x4=120 21 (b) 27
120 % 120= 14400 N3
12. (b) The sum of numbers of the left vertically half part is
equal to the sum of the numbers on the right. 9 5
1+7+9+5+1+9+6+4=42
Therefore +1
’ _ 22, (a) R+—Q L
?2+7+8+4+2+8+8+3=42 1_'_1 T+1 l+1
=?7=42-40=2] S P M
13. (b) Firstcolumn(7+2)x4=36 B3 1 1+
Second Column (6 +8) x 3 =42 T [O)«—N

Third Column (9 +4) x 7=26
23 (b) Tx(10+2)=35, 15x(12+2)=90

o 13x9—26-2=2_» Similarly, 6 x (x +2)=12
13 .

14. (c¢) First Column = 6><E=12
7x4-3=28-3=25 el
Second Column = OX=
§x9-2=72-2=70 sox=12+3=4]
Third column 24. (b) First Column
6x5-7=29 (3)2+(5)2+(1)2
=?=30-29=[1]. = 9+25+1=35

15. (b) FirstColumn %ﬁ“{‘ﬁf‘f‘(‘;‘)’;‘
3+6x9=3+54=57

= 16+49+4=69
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26.

27.

28,

(c)

(d)
(b)

(d)

(d)

©)

Third column

6y + @y +()y
=36+9+49=
First Column
Ji6+425

= 4+5=9
Second Column

J49 + 36
=T7+6=13
Third column

J64 + 81
=8+9=17]

2°=8;3=27

LA =64

First Column
VBT x+/4 x+f36
=09x2x6=108
Second Column
64 x 0 x 16
=8x3x4=96
Third column

16 x /49 x 25
=4 x7x5=[140]

31. (¢) FirstColumn (3 x4x5)-2=58
Second Column (5 x 6 x 2)—2=58
Third Column (8 x 4 x 2)-2=62

Forth Column (7 x 6 x 3)—2 =

32, (b)

B (c)

4. (d)

First number in each row is the product of the second

and third numbers.
First Row
25=5x5

Second Row
30=5=%6

Third Row
35=7%5

.-.?=35—5=

First Column
24x2+5=48+5=53
Second Column
51%x4+7=204+7=211
Third Column

67x6+5=402+5=

First Figure
3+5+2+4=14
= 14+13=27
Second Figure
6+2+3+5=16
=16+21=37
Third Figure
2+2+9+5=18

=18+29=[47|

11 www.jkchrome.com

35. (d)

36. (b)

37. (d)
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J First number x Third number

= Second number in each column.

First Column

Jax9=36=6

Second Column

3x27 =+81=9

Third column
J2x?2=10=2%?=100

.-.?=%=

84+12=7and7x2=14
81+9=9and9x2=18

88-+11=8and 8 x2=16|
54 30
24
30+24=54
112 42

N
70
42+70=112

Therefore,

? 28

N
38
?7=28+38= [66]

First Row
216-7=209;209-7=202
Second Row
522-7=515;515-7=508
Third Row

633—7=626;626—7=
6+18=24

24+36=60

60+60=120

120+90=210

210+126=
First Column
12x3+4=40
Second Column
15x4+6=66
Third Column

16x5+4=

www.jkchrome.com



38

39.

41.

42,

43.

45.

47.

49.

(©)

(©)

(©)

(c)

(b)

()

(@)

(b)

(b)

(@)
(b)

(©)

12 www.jkchrome.com

The second column number is the product of first and  50.
third column

(¢) 81x9=729
64x8=512

25=5x%5
49=7x7 49x7=|343 |
=6 %6 51. (b) The pattern is
Column wise (18+17)+(9—6) =38
Column1(96+6)+5=21 (11+11)+(19-9)=32
Column I1(100 +4)+7=32 (15+6)+(26—3)=44
. _ 12+8)+(39-19)=40
Column I1(132 +6) +3 = 23] (
Moving clockwise, the terms are : 52. (b) (100 +12)—(28+25)=59
5x242=12 Similarly, (102+52)—(36+28)=90
12x2+2=26 53. (d (@+5)-(3+5=1
26x2+2=>54 (7T+7)—(5+4)=5
54x2+2=110 (3+5)_(2+1)=
So, missing number=110x2+2= 54. (b) 7x3-5=16
Ix5x4=60 5x4-7=13
5x7x2=70,8x6x?=144 6x_4=33
0144 o 55. (c) 8x2+1=17
48 8x17+1=137
NS 8 x 137+ 1= [1097
56. 36)—(14+12+7)=3
18’42:36X2= (C} ( ) ( 7)
(54)-(9+11+16)= 18]
7x8x3=168
ol 57. (@ o—*f4 3 =3 L0443y
6x6x4=144 - -
+4 3 + 4 E]
6xxx5=120 11 15 12 316 »13
3t 7 =3 e * 4 g =3 LT
+. 30x=120 Hence, 15 is the correct answer.
120 58. (c) 3x4x2=24
x=¥= 2x_2x_1=4
) ) ) 6)({))(5:@
87437+ =T4 59. (b) 7x8x2=112,5x4x8=160
52477442 =90 3x9x2=162,27%2=162
62+52+22= 9=%=
46-22=24 60. (¢) 2x2x3=12
58-27=31 2% 3x5=30
68 — 32 =36 S5x1x—-1=-5
156—121=35x3=105 S 4x3x-1=[1]
187—145=42x3=126 7
6l. (b) 40+32=—=12
190—115=75x 3 = [225] ®) 6
2] 8 a0 t16 L3p  #32 o 464 an 128 o0 3D+24=%=9
7+22+5=16
90
9+42+7=32 54+:F=15
8+32+6=23)
62. (c) 1x3x4x5=60
3+9-5=7 6x7x1x2=84
2+8—6=4
4+7-5-@) therefore, 3 x 103 x 1 =[90]
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65.

67.

71.

(d)

(d)

(d)

(b)

(b)

(@)

(©)

(d

Figure follows the Rule
(0+6+4+3+1+5)xT7=19x7=133

(B+2+5+3+6+4) xT=28xT7=196
QR+1+5+7+3+4)x7=22x7=

The pattern is:

(6x7)+8+4=54
(8x4)+12+7=51
(9%x5)+14+9=068
3+4+3=10,4+6+4=14

8+6+6=20,8+3+8=19]
9x8-7=65,6%5-4=26

7% 6-3=[39]

225=(151=(8+7)
49=(7P=(3+4)
121=(11P=(6+5)
So missing number is 5.

4] 4°2=8

§72=16

16 "2=32

57°3=15

1573 =[45]

4573 =135

67 4=24

247 4=96

96 "4 =384

9x5=45
8x4=32
45+32=77
9x6=54
3x7=21

54+21=[75]

87

4

— e b —

||

(-l R=] [=y) ()]

7™ I O T
~ = g
LY== ]
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76.

(b)

(a)

(d

(c)
(d

g3

81. (c)

www.jkchrome.com

5x4+6=26
Tx4+4=32
9x 4+x=44

x=44-36

=

Here R, xR, +R,

- R,
8xx+6=70
8x=64

=

Each coloumn sum upto 99

99 —(35+28)=

711015
16 | 40
1517 |9

(7-5)%x5=10
(16—8)x5=40

(15-9)x5=30|

594 +3=198, 198 +3=66,66+3=22

(2+3)x15=75
(7+4)x15=165

(14+5)x 15=[285]

7+9-6=10
5+8-3=10

9+6-4=11

www.jkchrome.com



85.

87.

88.

89.

9L

93.

£EB

(©
(d) 3'=3,32=9,3%=81,3%=6561
() 33+3=30

43+4=68

53+5=130

(c) As,

=25-12|=13
=29-14|=15
=37-18|=19

144 = (12)°
196 = (14)
324 = (18)°

(a) (16x2)+8=4
(25%5)+25=5
(48 x 3)+36=4
(8x6)=16=3

(d) As,
3x1x5%x2+1=31 and
4x6x3x2+1=145
Similarly,
2x7x5x1+1=71

(b) Here,
Tx2x8+3=115
6x5x9+3=273

Ix1x4+3=15

So, answer is 15.

(b) The pattern is:
1512+3=504
504 +3=168
168 +3=756.
So, answer is 56.

(a) The pattern is:
As,
3x10x6+6=186
9x5%x3+3=138
5x7x1+1=36
Similarly;
Ix2x5+5=35.

(b) +49=7 169=13 484=22
Jﬁ:ﬂ Jiaa =12 Je2 _*25
16 25 47

So, Answer is 47.

(a) The pattern is as follows :
(7x3x2)=42
(3x4x7)=84
(10x7xx)=140

140
= LX=— =2
o, The missing numberis =2.

(d) The pattern is as follows :
(7x6)+(6%5)=42+30=72
Bx1D)+(11x1)=33+11=44
(2% 35)+(5%8)=10+40=50

14 www.jkchrome.com

9. (c)

9. (a)

99. (c)
19
25
16
100. (a)

The pattern is as follows :
(1+8+9+4)=22
(7+6+2+7)=22
(2+4+5+7=22

?2+11=22

?7=22-11=11

As, (4+6+9)=x2=38
(8+9+11)x2=56
Similarly,
(12+13+11)x2=72

The pattern is :

B—S e 512 5N
N_* ,Q H oy 7
g B v +4) S g

According to question,
As,

(5+7+6)x2=36
(9+11+8)x2=56
Similarly,
(10+?2+17)=2=064

64
(10+2+17) === =32

27+7=32

?7=32-27=5

The pattern is :

5+6=11 and 5x6=30
8+9=17 and 8x9=72
11+12=23and 11x12=132

78 =(19+20) x2 20
144=(25+47)x2 47
58=(16+13)x2 13

7 95=(12+7)(12-7)

132=(14+8) (14— 8)

9 | 175=(16+9)(16-9)

101. (¢)

102. (b)

36 52 86
28 40 12
+4 +6 +3
[++4 {+ +6 {{v +37
32 46 49
3

2 5

Q+3P=125 (3+4)P=343 (5+153=216

103. (d)

www.jkchrome.com

3 4 1
Hence, 7=1
The pattern is :
(4+7)=11
(9+4H=13
(19-9)=10
So, option (d) is correct answer.
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04 (b “10 L (@) (15+12)x(15-12)=8]
® V16+136 (17+14) % (17— 14) =93

V254449 =12 (15+11) % (15-11)= 104
T2 =12 112 (b) 14+16=30% (16—14)=30%2=60
VB1+49 11+17=28x (17— 11)=28 x 6= 168
105. (@ B3+7N=10,5+5)=10 15+18=33x (18-15)=33%3=99
(10+6)=16,(8+8)=16 113. (b) The pattern is,
106. (c) As, 8x(6—-1)=>8x5=40 (8+1)x(6+1)=9%xT=63

25x(21-1)=25x20=500

Similarly, 7% (14— 1)=7%13=91
107. (b) The pattern is as —

T+6+3=16x3 - 48

(I1+1)*(5+1)=12x6=72
Similarly,
@+ 1) x(7+1)=(2+1)x8=48

4+9+8=21x3 -5 63 ooor1= B ¢
2+5+?=14><3—> 8
108. (d) The Pattern in the Column is as : 4 @) 5=8> 02;6;01 =3
114. (a —28=
23-18=5, (5r=25
=30x4-2=118
41-33=8§, (8})= 64 Similarly,
38-29=9, 9y =81 ) 96—47=49
109. (c¢) Firstcolumn=55-48=7=7-=49 = 49%x4_2=194

Similarly, Third column =47 -40="7 = 7> =49 -
110. (¢) 43+82=128 115. (c) Thepatternis:

33+92=108 54-40=14 — 14 x4=56
53 +102=225 68—-57=11 - 11 x4=44
Similarly,
47-39=8 —» 8 x4=32
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